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METRIC 1,000 kg
A {m) 1 1.5 2.5 3 MAX. REACH
B (m) B | e | | @] d || § || § &= | § |z |Am
3 “0.E7 | T0.37 “039 |-0E9 | 208
25 “035 | “03s “034 | "034 | 265
2 ‘035 | -035 | "038 | -035 “0& | tosE | 2eg
15 “0B4 | “064 | "047 | "047 | 040 |-040 | "038 | "0.38 | -031 | "0.31 | &.18
1 “0B% | -083 | "D4B | -048 | 040 | “040 | "0&2 | "0.52 | 326
05 ‘075 | 075 | "0D&4 | -054 | 043 | "043 | "035 | "0.85 | 325
0 “077 | “077 | "079 | "079 | "057 | “057 | "0.44 | "044 | 039 | "0.59 | a.14
05 “DB5 | 085 | 114 | -114 | "078 | "0.76 | "0B8 | “055 “042 |04z | 291
K “1.50 |-1.30 | 085 | -095 | "065 | "085 | "048 | 045 “043 | "04 | 253
15 “056 | “056 “040 | -040 | 1.83
FEET 1,000 Ib
A (ft) 3.2 4.8 4 8 9.6 MAX. REACH
B (1) F e f | e=] g = = e F | == Am
2.5 ‘082 | "082 “085 | 085 | &8
B “078 | “078 “074 | "074 | &70
5.4 *077 | “077 | "078 | “078 “089 | 089 | 980
48 =141 |*141 | -104 | -104 | -082 | -089 | "0BS | 083 | 068 | "068 | 1042
52 *1.59 |-139 | -108 | -105 | 088 | “089 | "071 | 071 | 107
16 “168 | -186 | -119 |-1.19 | 095 | *095 | "076 | "076 | 10.67
0 “170 | *170 | 175 | *175 | 125 |-125 | "087 | "097 | "0&7 | “0&7 | 1029
15 “1B8 | -188 | -282 |-252 | 188 | “188 | ~121 | “121 “09% |-093 | 958
=2 “2BE | "286 | -209 | -209 | 143 | -143 | "096 | -098 “095 | 095 | 831
48 -125 | “1.25 “088 | 088 | 602
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= 1.7 m
A =1
2 $0.9m
uf 21 3= o
: FEEAOI=  : 200 kg
L S : 230 mm (Rubber)
B = A DA 84S
I!l DY A
' o D EYW T 360 43 A
o 2| 1,000 kg (1,000 Ib)
DS 1901569
a7
METRIC 1,000 kg
A(m) 1 15 25 3 MAX. REACH
B m) Ele=| § &= g | &= g |&=|§ | &= § | Am
3 "0.37 | ~037 039 [ -039 2.08
25 035 | ~035 "034 | "034 263
2 036 [~035 | "085 | ~035 031 | “031 2.99
1.5 064 | "064 | "047 | "047 040 | 040 0.30 0.32 02g 0.29 3.18
1 0.54 057 039 041 0.30 0.31 028 0.28 3.26
0.5 063 055 0.8 0.40 0.28 0.31 028 0.28 3.23
0 077 | 077 0.62 054 0.37 039 029 0.31 027 0.29 3.14
05 “0.85 | ~0.85 0.84 0.88 0.62 0.54 0.37 039 0.30 032 2.9
-1 "1.30 | ~1.30 0.85 0.89 063 055 0.8 0.40 037 039 253
-1.5 "056 | "0.56 “040 | 040 1.83
FEET 1,000 Ib
A{(ft) 3.2 48 6.4 8 9.6 MAX. REACH
B () Ele=| § &= g | &= g || § | &= § | == A@m
86 *0B2 | -082 *085 | -085 6.62
8 078 | ~078 074 [ "074 570
6.4 *077 |*077 | *078 | ~078& 068 | -0.69 9.80
48 141 | 141 | 104 | 104 08B | 0489 0.67 0.70 061 064 | 1042
3.2 1.20 1.25 0EB&6 090 0.66 0.69 058 061 10.71
1.6 1.16 121 0E4 058 0.65 0.68 058 061 10.67
0 *1.70 | *1.70 115 1.20 0B3 0&7 0.64 0.67 0.60 064 | 1028
-1.6 *1.B8 | ~1.886 1.85 1.83 115 1.20 0.B3 0&7 0.67 07 9.55
-3.2 286 | 286 1.88 1.895 1.16 122 0.B4 088 083 0A&7 5.31
-48 125 | *1.28 *088 | -088 6.02
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